F0EEY FSIILAR—YBERIYT YRRAEZ—XT AT 41N

Ri5  BHEFORF—L (BT T—))
B8 : 2013%6A28 (B)

No.20 BF50mTFikF

[[=tiva K £ 95748 AL
[18~24 X 4]
1 FEE 1EER BEMNE 28.24
2 RR & AGEE] 34.12
3 MR #k F/iT 35.30
4 R 8 HEE 4564
[25~29% X %)
1 TR &iE B R 34.09
[30~34%E X 5]
1 FE *H NEE 31.77
2 EE K& VANGEBE] 34.28
[35~39m X 5]
1 FigE F17 R 34.61
2 BAR EXER K 34.82
3 EHE —F K 36.02
[40~44 X 5]
1 iz — & R 32.82
2 =8 &A S 35.96
3 ==F (-3 SIF T EAR 39.86
4 E EE K 41.54
5 Rl =A —%t 41.82
6 A B [if] W5 41.83
7 B&E KEA HAE 42.89
8 =& AKX S 4341
[45~495% KX 53]
1 EiE EZ ¥ 39.67
[50~54% X 5]
1 INI IEZE R 40.45
2 TR IEA WmE 41.83
3 B B F/; 42.08
4 BB F— T 43.28
5 WE ERE JE 15 50.59
[55~59m% X 5]
1 EER sh— o & B 41.02
2 =B X NEHE 42 45
3 aH —E NE 44.38
[60~64m% X %)
1 IR BUE =)= 43.26
2 Xx8E #F— HAE 46.62

1/2R=



F0EtE Y FSIIAR—YBBAEAIYT IRAZ—XT AT 4/\)L

R BHEOF—L (HTT—)
#AB : 201346A28 (H)

No.20 BF50mEikE

JIE 15z K £ 95748  BAL

[65~697% X %]

1 =G wB REER 43.39

2 INE B2 A 45.25

3 A HE NEE 47.70

4 LA #7 FE 49.66

5 KE 13 7—k 52.05
[75~75m X %)

1 ZH H1E fit] 5§ 45.14
[85~89m% X %]

1 Al &k Y A 53.31

2/2R—=



